FINAL EXAMINATION
- Dec. 8, 2008, 9:30 - 11:20 am

-ECE 580 N
Prof, G. C. Temes

1. Analyze the active filter shown below. Find its transfer function

- H(s) = Vo(s)/Vins).

d

2. Find the sensitivity of Vo to variations of the transconductance Gm in
the circuit shown, using the adjoint network method.
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3. (Easy) Prove that the phése shift of a lumped linear

two-port is an odd function of the frequency.
~or : -

3. (Hard!) What is the asymptotic behavior of the group delay of a lumped.
linear two-port at very high frequencies? Why?
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